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Ph. D. Entrance Examination 2025-26

Pharmacy

Total Questions: 70 | Marks: 70 | Time: 1.5 hours

Roll Number: Date:

Instructions:

This question paper consists of 70 multiple choice questions (MCQs).

It is divided into two sections:

e Section A: Research Methodology

e Section B:
Pharmacy

Each question carries 1 mark.

Total duration: 1.5 hours

No negative marking for incorrect answers.

Answers should be carefully marked as per instructions provided by the invigilator.

Questions are given in both English and Hindi for convenience.

e In case of any discrepancy between the English and Hindi versions, the English version

shall be considered final.
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English gl (Hindi)

1. Which of the following is NOT a type of Fafeife H T <Y $1 PR el 67
research? (A) TUFTHS MY
E:)) I[E)escr!ptlvi Il?le;search i (B) TS Y

xperimental Researc
(C) Observation (C) STadle
(D) Correlational Research (D) Gedael =y
2. What is the primary goal of basic research?
(A) To solve a specific practical problem. e SFTHYT BT Y I 167
(B) To develop new theories and expand (A) Tt STaETRS THIT BT JHTUT BT
knowledge. (B) 718 Fygia faw i &3 3R I S
(C) To evaluate the effectiveness of a program.  ((C) HRIHH &I UHTARITETdT T Hedidh BT
(D) To describe the characteristics of a (D) SRR &1 faRivarsf &1 qufa ST
population.
3. Which research method is best suited for o ey fafer o1 ST =< He T bt i o fer
exploring a new phenomenon? HeY JUGH 82
(A) Experimental research (A) TS QMY
(B) Correlational research (B) Tegsd =y
(C) Exploratory research (C) TISTR® WY
(D) Descriptive research (D) IUHTHS MY
4. A key characteristic of quantitative research is [FTTeT ST &I 7 faRwd T8 & fob 7.

that it...
(A) relies on subjective interpretations.

(B) uses numerical data and statistical analysis

(A) AR RSl )R AR Har g
(B) TBITHP ST 3R FiRkSTd 1 fAzawur &1 IudiT
AT R

(C) focuses on meanings and experiences. (C) 31t 3R &a&m‘qu%{;@agﬁm%
(D) involves only case studies. (D) HId HY TSIe TR 3NYTRT Bl g
5. Main purpose of descriptive research is... o S b T e 3
A) To establish cause and effect.
) (A) BRI 3R THTT HI R AT
B) To explore new phenomena. )
EC;T | P - P erictics of (B) 718 HcTSH B WioT HRAT
o describe characteristics of a
o (C) S/ RUfa Bt faRiwdraef &1 quiH H=
population/situation.
(D) TR TS BT URI&0T BT

(D) To test hypotheses.

Page 2 of 16




English gl (Hindi)
6. Which of .the following is an example of a PreRIEd & Q 3 1o Dy FEwe 1 e &
research design? (A) TTEeh
(A) Questionnaire
(B) Interview ®) m{” i
(C) Experimental design ©) SRy
(D) Observation (D) SERIEE
7. The first step in the research process is. .. MY YichaT BT UGl IRUB...
(A) Data analysis (A) SeT fagam
(B) Literature review (B) T THtam
(C) Identifying a research problem (C) TN JHWT P UgaH

(D) Formulating a hypothesis

(D) GRS §HT

8. Main difference between basic and applied
research is that basic research...

(A) is more rigorous.

(B) focuses on new theories; applied research
solves practical problems.

(C) isonly in a lab; applied in real settings.

(D) has no difference.

e 3R SUgad SrIgYH ¥ g 3R 98 & fb
AT SEYM. .

(A) 3P PER T 8

(B) T3 Fygidl TR Hfed Brar §; SIIwad e
HTARTNG A3 BT FHTET BT &

(C) Had YANTITET H Il §; SIIdd ardfad
oRfufaa H gl g

(D) FIS SR TEI grelm

9. The term “qualitative research” refers to

research that. ..

"TUITEHD ST eg 39 I I Talid

(A) uses numerical data. (A) TATHS T BT ST BT §
(B) focuses on meanings & experiences. (B) 37f 3R 3fTHal R Hiad glaT ®
(C) uses large samples. (C) §S A T SUTNT BT §

(D) is always laboratory based. (D) BT YTRTRITCT TR Bidl 2

10. Purpose of a literature review 1is to... e qHIET BT I35 g...

(A) collect data. (A) SCT THA HAT

(B) identify a problem. (B) Uh JHT D! UgaT BRIl

(C) summarize existing knowledge. (C) HISIET I T YR URqd BT

(D) analyze study results. (D) 3TT & TRUMHI BT fa=Rawor H3-T
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English gl (Hindi)
11. Primary purpose of a literature review is e griter 7 T et
to...
Lot raw dat (A) ST ST THA HRAT
A) collect raw data.
A . (B) HIS[aT SN T 1 UG Rd H=AT
(B) demonstrate knowledge of existing research.
. (C) 7T JUBRUT faeh RId AT

(C) develop new instruments. e e R
(D) write a persuasive argument. (D)t

U UTUHE Hd BT oY 33T 39 =4 H afvfd
12. A primary source is best described as... S 3
(A) Textbook summary .

. . : (A) UTSIYXd e TARIRT
(B) Interview with key witness
. . (B) T T1ATE & W1 AIETHR
(C) Article analyzing a novel.
. . (C) IUITY D fARATUT B aTell o

(D) Documentary film on discovery. oo

(D) WISl IR 3YTRT Siagric! fhed
13. Main function of a literature review in TN Bl TRHTNT - H Ao FHiem BT e
defining a problem is... PR B...
(A) to replace primary data. (A) Tl ST B UfcRAITd BT
(B) to identify knowledge gaps. (B) 1 &1 WY &1 Uga Al

(C) to give readymade answers.

(D) to remove need for question.

(C) IR IR USH B
(D) UY B AR DI AT HRAT

14. Which of these is a secondary source? fafofed @ @ 3 fgdias od g7
(A) Diary entry (A) SR Ufaf®
(B) Survey data analysis article (B) T SeT fazayur orRa
(C) Photo of an event (C) T Pt AR
(D) Historical letter O NRRIRERE]
. - T 3] A THIET &I A1l & 93...
15. A good literature review should... (A) T T R TP FR
A) only support researcher’s view. . - . .
EB)) _ y ”pp | eaz . Shwe_w (B) FIdl BT SATAIATHD eI BY 3R I
critically evaluate & synthesize sources.

(C) avoid conflicting findings. _ ]

- (C) TRtemumd s I 7
(D) focus on own opinion only. .

(D) Had U I W bhigd 77
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English gl (Hindi)
16. Key benefit of secondary sources is... fecliaes did &1 HG oy 8.
(A\) first-hand accounts. (A) T faaom
(B) comprehensive overview. (B) THYT 3@qIH
(C) always unbiased. (C) BRI sy
(D) no need for primary data. (D) TTUH ST Bl I HdT Aol
17. A research gap is... Th TNY 3R BT 34U 3.
(A) data section. (A) SCT 3FIHTT
(B) missing info not addressed. (B) SFIURT STFHRI oIl WalTdId ol &1 T8
(C) study summary. (C) T DT IRI
(D) list of participants. (D) TfAUIRTT Bt =t
18. Which is NOT a purpose of literature P § 9 1k Titen T 92T AT R
review? . . '
VIEw (A) TTE SAURUTST/RiGid & ugd™ ST
(A) Identify key concepts/theories. )
. (B) YT UHA dHIRId BT
(B) Develop research question. N )
. . (C) PId Th LT BT YRR &A1

(C) Summarize a single study only. N S
(D) Provide context for current study. D) o fere s TPl
19. In a literature review, synthesizing means... e wlen & Geawor @7 anf R
A) summarizing each study. I :
A ; J y (A) TP ST BT TR I HRAT
B) combining information for new ,
® m (B) TS TH & T SR &1 AT e
understanding. ) .

o o (C) ad STITT I W1
(C) finding inconsistencies only. . _

(D) Tel Ui Fell D! Glag Bl

(D) listing most relevant sources.

20. A good literature review helps researchers...

(A) avoid all previous research.
(B) justify need for their research.
(C) ignore contradictions

.(D) work without theory.

UH 33| Mg THIET Mebaisdl Ht Tgradl Bl
A) TR @My F T A

(B) 3T SIHUT B! A=Al ! 3iad deH o
(C) faRIemyT BT 3FcET B |

(D) Rigid & fe sl A |
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Englis (Hindi)
lish fg=t
21. Which is NOT a measure of central
tendency? 9 & J DI Bt ughi &1 AU T8 82
(A) Mean (A) HI
(B) Median (B) HIfRIHI
(C) Mode (C) Jgaid
(D) Standard Deviation (D) AMS fdaeH
22. Primary purpose of descriptive statistics is. .. qUIHTHED TSB! bl U SER §...
(A) Make inferences. (A e FebrerT
(B) Summarize & describe dataset. (B) ST P! YRIFRI HAT 3R quiH HRAT
(C) Test hypotheses. (C) URSH TSI BT TRA&I0T HAT
(D) Predict future outcomes. (D) HiIsTaTforT =T
23. Which graph represents distribution of I T ST Sl PRyl @l a2l o
numerical data?
(A) Pie chart (A T e
ie char o
B) Xhex Wic
(B) Scatter plot ®
C IgQE PIE|
(C) Histogram ( )W
(D) Line graph ©) e
24. Inferential statistics is used to... i ) g Sy 5
A i ith tables A 7 e
mmar : :
( )Zu a|zTW| : | f A) 3 0 % R
B) draw conclusions about population from - )
®) | PoP (B) T ¥ SEReAT R s FHapTem & o
sample.
C &1 qUH IR B
(C) describe sample. ( ):Ié:'rﬁﬁ ;%’FI
(D) visualize data. ©) T T A P o
)5 A 1 p-é?an drs...
. value represents... .
p YTHE TEpTEREnt (A) I T IR T § Al STl B FUTEAT
(A) Probability of data if null true. A o )
o . (B) TS AT IRF T gl JHTIT
(B) Probability if alternative true.
(C) Significance level a. ©) A
(D) THAT 3ThIR

(D) Sample size.
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English fe=dl (Hindi)
26. Which is NOT a component of a box plot? fafciRad # A P sed @ilc P e el 82
(A) Median (A) AT
(B) Quartiles (B) ﬂﬁ%
(C) Mean (C) {1
(D) Outliers O ELEIH
27. A skewed histogram indicates... Ripd ) fa
(A) Equal distribution. (A) T R
B)S try.
ECi Lzr:gr::i?;n one side ®)
(D) Normal distribution. (€)% qu@
(D) T fadRor
28. To test difference between two means, use... ) et & ot oidR il S 3 g T Y
(A) Correlation A) el
B)R i
i o e
. (C) 1 e
(D) Chi square
(D) FIS-aT1 URI&f0T

29. Purpose of a scatter plot is...

(A) Show distribution of single variable.

WheX Wic T I B, .

(B) Display relationship between two variables () T T R 2 AT e
©) Reppresint categori:al data. (B) TR & S il 1 ¥l et
(D) Summarize with a single value. (C) AU ST BT T
(D) Ul HIF & TT IRT AT
30. Which value is a sample statistic (e.g.,
sample mean)? T HiRSTeB T W DI A Q (S, AT HIeH)?
(A) Population parameter (A) SR TRt
(B) Sample parameter (B) AT WRHfte”
(C) Sample statistic (C) T ifeTeht
(D) Population mean (D) STIRSAT {1
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English fg=al (Hindi)
31. Control charts & procedures in descriptive quiTTeen Fiferent H ez a1 wd fcharett i
statistics are classified as... EMICAERIIS I
(A) Behavioural tools (A) HIBIRD IUDHRI
(B) Serial tools (B) Shi¥h FTDHRUT
(C) Industry statistics (C) 3NN TifeTest
(D) Statistical tools (D) TifTH T USRI
32. Which of the following is a measure of PofifEd & S o Tge e O 3
dispersion? (A) T
(A) Mea-n (&) TR
(B) Median
(C) Range (©) 5
(D) Mode (D) dgcte
33. Skewness refers to... Eﬂjﬂ (ﬁ?ﬁ) BIACY B...
(A) Peakedness (A) s
(B) Spread around mean (B) 1 & IRI 3R YIR
(C) Symmetry of distribution (C) faeRU1 Bt TH=Tar
(D) Average value (D) 3NTd {1
34. Kurtosis refers to... ity (M) BT ATd B .
(A) Symmetry (A) FHRYT
(B) Spread around mean (B) A1 & IRI 3R TR
(C) Peakedness of distribution (C) faerur & <fidar
(D) Average value (D) 3NTd {1
N L BTs-a7 TRI&U1 T I p A GRNdT 3.
. 1 value 1in 1 Square 1mdicates... r
(A) Stroig I;Vidence agains(‘;1 Ho (A4 $WW il
, _ (B) T URGAT & fadeg HHSIR JHTUT
(B) Weak evidence against Ho )
(C) Significant difference present ©) W %@Tﬁ?ﬂ@ﬂ?{
(D) = TgHaY

(D) High correlation
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English

fe=dt (Hindi)

36. Which of the following detectors is

commonly used in HPLC for non-UV absorbing

compounds?

(A) UV detector

(B) Refractive index detector
(C) Fluorescence detector
(D) Diode array detector

HPLC H UV 3a=Nfid 7 &=+ ard aiffte! & g
ITAId: DI T fSeaex IUTNT §lar 82

(A) UV f&caex

(B) 3UTcH qAHI® f&cder

(C) TR f&daex

(D) SIS W fgeaer

37. In IR spectroscopy, the functional group
region lies within:

(A) 4000-1500 cm™!

(B) 1500400 cm™

(C) 60004000 cm™!

(D) 200-800 cm™!

IR WA IU! H TRl Ju & fobd Wi o HieR
g &?

(A) 4000-1500 cm™

(B) 1500400 cm™

(C) 6000—4000 cm™

(D) 200-800 cm™!

38. LOD (Limit of Detection) refers to:

(A) The lowest concentration that can be

LoD (f&a=r &t I &1 arad &:

quantified (A) T HT Higd! for AT =0 T |11 o 9
(B) The concentration giving a signal-to-noise  ||(B) a8 Ti&dT it 3:1 &1 RiUd-g-Algel 3JUrd &t &
ratio of 3:1 OERCEEIRERERCNED

(C) The highest allowable dose (D) 98 41 foraes a1 gaT 3IfRR g St 8

(D) The limit beyond which drug is unstable

39. Which secondary metabolite is synthesized |[RITSP{Heb 7T T o HTEH | & a1 feditas

via the shikimic acid pathway? T TG SR BIel 672

(A) Atropine (A) TSIt

(B) Quinine (B) T

(C) Caffeic acid (C) Bfthes 3

(D) Terpenoids (D) ‘c’lﬁm

40. The main method to evaluate mucilage
quality of Plantago ovata is:

(A) Foam index

(B) Swelling index

(C) Alcohol solubility

(D) UV absorbance

Plantago ovata &1 Tqﬁlﬁ\_ﬂ T[OTa T A URI&00
RIDT &:

(A) B FST

(B) Yo YIAPID

(C) Tehigd H facraan

(D) UV 3{a=ITHT
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English gl (Hindi)
41. Which of the following is NOT a glycoside- |[NHeEd # ¥ b1 Tdh Tellgeh I Tgs el ST T
containing drug? 32
(A) Senna (A) -1
(B) Digitalis (B) f&fSrefery
(C) Rauwolfia (C) IR
(D) Aloe (D) Ul
fofeed o @ o 91 ufie Tewalegy & g
42. Which of these tests is specific for alkaloids? AR 2
(A) Keller-Killiani . | -
(B) Salkowski o
(B) Hlchlokh!
(C) Dragendorff's . s
(D) Molisch (©) 3 PTERIGT
(D) Hifer=T gjaror
43. Which of the following is an advantage of RrdriTe g7 feefiad) @ frsrvar 2
liposomal drug delivery?
duced cost (A) P H ld
A) Reduced cos "~ -
() o (B) 941 §% STSRIAD SaioHI
(B) Increased gastric irritation .
c) fAfd HI%@?UI
(C) Controlled release © a
(D) Less bioavailability (D)
44. In tablet formulation, capping can be S et Rrgtor 8 S & e o 3
avoided by: (A) T TR N ——
(A) Reducing binder concentration )
. . (B) TS 9¢ P! IGIH
(B) Increasing compression force - .
o (C) faTeTemdl & geTe
(C) Decreasing disintegrant 3
(D) Avoiding granulation ©) ﬁﬂ@l&ﬂ AR
45. Which of the following methods is NOT Fraforfad & @ o1 3t fafer St or & o o
used in nanoparticle preparation? SUANT g1 glcit?
(A) Emulsion-solvent evaporation (A) SHRM-Hledc arsdiepRur
(B) Steam distillation (B) HTY AHTHIA
(C) Salting-out (C) TTfedTT-313¢
(D) Nanoprecipitation (D) AT
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English fg=al (Hindi)

46. Tmax in pharmacokinetics refers to: THe (b -Teed H Tmax T 31d &:
(A) Time to reach maximum drug concentration [[(A) Gal 1 AR Jigdl db Uga- I THd
(B) Maximum dose (B) 3HfUHaH GRIH
(C) Time taken to excrete the drug (C) AT & H I &1 9
(D) Time to dissolve (D) Y& &1 99
47. Pick the correct statement regarding BCS BCs A0t 11 39 2aTsh ¥ Tay F 9 B Eﬁ
Class Il drugs: 5

h ? bility, high bil A o= i
A) High solubility, hi ermeabilit
(A) Hig y, high p y ()P e

(B) Low solubility, high permeability
(C) High solubility, low permeability
(D) Low solubility, low permeability

(C) I YR, HH YRR
(D) & Y-IRITedT, S YR

48. The primary mechanism of action of
benzodiazepines is:

(A) Inhibition of MAO

(B) Inhibition of acetylcholine receptors
(C) Potentiation of GABA

(D) Blockade of dopamine

SSTaoUTE= @1 foha &1 rfies o7 8
(A) MAO T 3faRIeH

(B) URIeTgaeIch AP &7 Siaried
(C) GABA &1 &ar ¥ gfg

(D) SIUTHIS &I Sldhol

49. An example of a selective fi-blocker is:

T T -SATBR BT 3&T6RUI o

(A) Propranolol (A) T

(B) Atenolol (B) i

(C) Timolol (C) femaa

(D) Carvedilol (D) HIATSAS

50. Which of the following is a non-sedating

antihistamine? 0 # ¥ B A T RS CiitemE o7
(A) Diphenhydramine (A) STShTEIg MM

(B) Cetirizine (B) Ao

(C) Chlorpheniramine (C) FARWB-IRTHIA

(D) Promethazine (D) THYTSI
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English

fe=dt (Hindi)

51. Which vector is commonly used in plant
genetic engineering?

(A) A phage

(B) pUC19

(C) Ti plasmid

(D) Cosmid

UTey SMTd R St H FHd: fog dee
T ST a1 AT 87

(A) TvsST Trot

(B) pUCT9

() Ti wiifoHg

(D) PIFAS

52. Hairy root cultures require the use of:
(A) Agrobacterium rhizogenes

(B) Agrobacterium tumefaciens

(C) E. coli

(D) Pseudomonas aeruginosa

B T ¢ Dok P (AU [y SNaTy] o1 SaRgehdl gial
27
(A) TSI ISl
(B) THISARINTH i
(O) 3. PIaTS

(D) YEHHTE TR

53. A common method to assess gene expression
IS:
(A) SDS-PAGE

S Sificfad &1 Jedie B &1 amry fafy &:
(A) THSITY-US

(B) d%e sdle
(B) Western blot
(C) UNIISIR
(C) PCR e
(D) RT-PCR (0) HRE-URfISMR
54. The active metabolite of codeine is: DIS I Pl Hishd HeTaleTse &:
(A) Morphine (A) At
(B) Heroin (B) &g
(C) Naloxone (C) TR
(D) Norcodeine (D) ARBISH

55. Which heterocycle is present in omeprazole?
(A) Thiazole

(B) Imidazole

(C) Benzimidazole

(D) Pyridine

MU # DI I geRIag{biere I IufRUd
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English fa=dl (Hindi)
56. Bioisosterism involves: STTEHRRH o1 A1
(A) Changing the route of administration (A) a1 & & I bl Fae
(B) Replacement of one functional group with  ||(B) TTfafafd SgT 8¢ U bR JU &I gav
another to enhance activity ORI DT
(C) Masking the bitter taste (C) PSd WG Pl fFUMT
(D) Enhancing solubility only (D) Fad gaT=iedT SGHT
57. Schedule M of D&C Act relates to: D&C AT T S M Heiferd
(A) GMP guidelines (A) GMP fe=m-fader
(B) Clinical trials (B) a1 Uteqor
(C) Labeling (C) AaIfeiT
(D) Controlled substances ORELIERRHE]
58. Which of the following is a Schedule H ArfifEd & Q P S H A
drug? (o OefeT
(A) Paracetamol - %H%I‘@'fr i
(B) Dextromethorphan .
(C) Ciprofloxacin (€) RS
(D) FFT

(D) lbuprofen

59. A drug labelled under another drug’s name is
termed:

(A) Misbranded

(B) Spurious

(C) Substandard

(D) Adulterated

forelt 37 SNTY & 19 I e &1 715 gal Bl 1
8T I o7

(A) TAd SITSS (Misbranded)

(B) STTet (Spurious)

Q) g BUCKI G| (Substandard)

(D) fremadt (Adulterated)

60. Which of the following helps determine the
antioxidant potential of a compound?

(A) DPPH assay

(B) Melting point

(C) Titration

(D) BOD test

fobg fafdl & diftep 1 TeTaiTeriTS e & &1 FHyRom
[ERISIRET I

(A) DPPH TfRe&fur

(B) TTaTich TRI&f0T

(C) TTFETH

(D) SH3HIST Utefur
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fe=dt (Hindi)

61. Which of these is a percutaneous absorption
enhancer?

(A) Surfactant

(B) Preservative

(C) Disintegrant

(D) Flavoring agent

9 T T B @ & H1EH I TN ST arel
TSic &7

(A) Tihace

(B) TR&fh

() fagcs

(D) TRIfT Tole

62. Capping in tablets can be best described as:
(A) Cracks on tablet surface

(B) Layer separation during compression

(C) Edge rounding

(D) Non-uniform coating

cacic | BT ! Fel 3! kg d uRUING foa
GTWT%:

(A) CHAC B! TdE W XK

(B) TUTS & ERT Ul T ST &1

(C) Th-IRI T 7Tt BT

(D) SFEH BT

63. Which of the following is the most
appropriate order in conducting scientific
research?

(A) Data collection — Hypothesis — Literature
review — Conclusion

(B) Hypothesis — Literature review — Data
collection — Conclusion

(C) Literature review — Hypothesis — Data
collection — Conclusion

(D) Literature review — Conclusion —

Hypothesis — Data collection

QD ST HRA BT o UG HH 41 |7
(A) ST HIE — TRBIT — Tifew Jeem —
fsepef

(B) IR — iR FHterm — a1 g —
fysepef

(C) A THian — uRebeuH — ST 98 —
fsepef

(D) TTfe THiem — fAswy — TREHe — St
LEH

64. A drug follows first-order kinetics with a
half-life of 3 hours. What percentage of the drug
remains after 9 hours?

(A) 50%

(B) 25%

(C) 12.5%

(D) 6.25%

TP Gdl YT HH B kun (R BT SR Bl §
foras! oef-a1mg 3 ©e g1 9 °e a8 fohat ufa=md
CEIRICRGIIH|

A) 50%

(B) 25%

(C) 12.5%

(D) 6.25%
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fe=dt (Hindi)

65. A pharmacokinetic study shows an AUC (0-
) of 65 ug-h/mL after a 325 mg IV bolus dose.
Calculate the total body clearance (CL) in L/h.
(A)2.5L/h

(B) 5.0 L/h

(C)10.0L/h

(D) 20.0 L/h

TP BHBI[bTCH 3T | 325 mg IV aaq
GRID & §1G AUC (0—) 65 ug-h/mL O 1| S
RIS FHIYA (CL) T UM b

A) 2.5 L/h

(B) 5.0 L/h

(C) 10.0 L/h

(D) 20.0 L/h

66. You are preparing a 250 mL IV infusion
containing 10 mg/mL of a drug. The infusion
rate is 25 mL/hour. How many hours will it take

to deliver the full dose?

39 10 mg/mL &aT BT 250 mL IV SRISH R HR

R Tl TS @R 25 mL/deT 31 O GR1eb 3 H
fha- e Tl

(A) 5 °¢
(A) 5 hours .
(B) 8 ©¢
(B) 8 hours >
(C) 10 hours (€10 .
(D) 12 hours (D) 129
67. A research team evaluates a new wh Sl I il ff=r5° . N —

antipsychotic in schizophrenia. Patients are
assigned based on physician's discretion. What
bias is most likely?

(A) Recall bias

(B) Selection bias

(C) Information bias

(D) Observer bias

BT Hedich-T Bl & | TRl bl =99 ffbcda &1
Tie  fopaT T | TEY YU UeaTd B 9T 82
(A) Repla vera

(B) IT T&UTd

(C) T T&urd

(D) Td& T&Td

68. A RCT of anti-diabetic drug showed HbAlc
reduction of 0.8% (95% CI: 0.5%-1.1%, p <
0.001). MCID is 0.4%. What is the conclusion?
(A) Statistically effective, clinical significance
uncertain

(B) Both statistically and clinically effective
(C) Clinically effective but statistically
insignificant

(D) Inconclusive due to narrow CI

Teh RCT A UCl-SHfafc® gdl & HRUT HbATc T
0.8% 1 HHI (95% Cl: 0.5%—1.1%, p < 0.001)
faTS | gAdqH Ae1-d e 0.4% g | fens a1 87
(A) FiRSTPH 1T TU | YHTET, TaIHd A
(B) WD 3R AGTH® U F GHI quTat

(C) AT ¥U J gHTdT AfehT Tifeaeia U § e
(D) HIfHrd Ay feRTa & HRUT sy sifurias
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English

fe=dt (Hindi)

69. A pharmacoeconomic study showed
Treatment B has ICER = $45,000/QALY vs
Treatment A. WTP threshold = $50,000.
Conclusion?

(A) Not cost-effective

(B) Cost-effective

(C) Equal to Treatment A

(D) Inconclusive without total costs

U BHBISHHIHD 30" H SUDR B &1 ICER =
$45,000/QALY T STafds WTP HHHT $50,000 T
sy o1 I

(A) AT JHTdT 81

(B) TTd THTa!

(C) SUTR A & SRTSR

(D) & ANTd & o1 s Hrg =gt

70. After Phase Il clinical trials, next step for
new molecular entity (NME) is:

(A) Establish MTD in healthy volunteers

(B) Confirm efficacy in large population

(C) Monitor post-marketing adverse events
(D) Conduct PK/PD studies

Phase Il TRT&0T & §1G 15 Gal 3bTs (NME) &1
GF'IETHTUT%:

(A) W [WAHaH| I eHad Hg-i1d QRIS (MTD)
feffed S

(B) IS SI-HBIT T YHTGHINGT Bt YfP BT

(C) faUuH & §1G & Ufddd UHTAl o1 FATRIHT BT
(D) PK/PD 3T ST
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